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2 * lg x = lg (x + 6)             

 
lg x² = lg (x + 6)             

 
Entlogarithmieren: 

 
x² = x + 6 | -x 

 
x² - x = 6 | -6 

 
x² - x - 6 = 0 

 
p = -1 ; q = -6 

 
          -(-1)  

x1,2 = ------- ±      

             2 
 

x1,2 = 0,5 ± 625,0 +   

 

x1,2 = 0,5 ± 25,6   

                                                    

x1,2 = 0,5 ± 2,5 
 

x1 = 0,5 + 2,5 = 3 

 
x2 = 0,5 – 2,5 = -2  Keine Lösung, der Logarithmus einer negativen Zahl  

 
existiert nicht. 

 
 

)6()²
2

1
( −−−


